Exercise 5C

1
Identify each of the following as a solvable equation, an algebraic expression or a formula:


(a)  πr²h



(b)  A = πr2


(c) 5 – 2x = 1
2
Solve the following equations:


(a)  5x – 6 = 9


 
(b)  7 = 11 – 4x

3
Solve the following equations:


(a)   x + 6 = 2x + 2

 
(b)  x + 3x/2 – 3 = 5x/2 + 3 – 2x

4
Solve the following equations:


(a)  2x2 + x – 6 = 0


(b)  4x2 – 6x = x + x2
5
Solve the following equations:


(a)  2x2 – x = 10x –15 

(b)  12/x =  3x – 9
6
In Exercise 4C the expression for the costs incurred by the butcher was 

C = £(1000 + 50N ) and his revenue was R = P(950 – 10P). At 'breakeven' his costs equal his revenue, i.e. C = R. Produce and solve the quadratic equation with the variable P to find the prices he would need to charge to break even. 

7
Solve the following simultaneous equations:


(a)  4x – y = 10


(b)  3y = 5 – 3x


      3x + 2y = 2


       2x + y = 0
8
A baker sells twenty loaves and two fruit cakes for £24. His assistant sells six loaves and one fruit cake for £8. For how much does each loaf and fruit cake sell?

9
Solve the following inequalities: 

(a)  2x – 6 ≥ 4



(b)  x – 4 ≤ 4 – x

10
A small company employs both full-time and part-time workers.  A fairly complex process requiring 41 hours work can be carried out in one day if 4 full-time and 2 part-time workers are available. A much shorter process needing 25 hours work can be carried out with just two full-timers and two part-timers are available. How many hours a day does each type of employees work. 
